LT150/LTM150-CB

v/

C € Eneoo7a

RoHS
.
5 6
.
s T — it
U=
7 8 9 10
14
S HEl -
17
9 16
15
» MACHINE TORCH
1/8G BEiie
K 1/4G
l 26a
k M14X1
M16X1.5
S Central adaptor

L., |_28 o R 4 Sk

echnical Data HASH

WITH HIGH FREQUENCY

S

24

p ¥ g

Current FiEHR 150 Amp |_ 29
Duty Cycle &% 60%

Gas S AR =5

Gas Pressure S[E 4.5-5.0 Bar

Gas Flow SiitE 220LPM

Ignition 513757 HF &35 I

Post Flow S{AERT 150sec. recommended #E#F150%)
Standard Length #REE 6M

v/

C € Eneoorat

ROHS

HAND TORCH

[Code | Ret | Doscripion | Code | Ret | Doscripton |
IVT6820 Plasma cutting torch LT150/6m 118G;% & {1 £H4/LT150/6m 1/86 IVT6830 Plasma cutting torch LT150/12m 1/8G;% & &li#/LT150/12m 118G
IVT6826 Plasma cutingtorch LT150/6m 1/4G; BT {1 EH#ILT15016m 146 IVT6836 Plasmacutting torch LT150/12m 1/4G; % B 71 &J#/LT150/12m 114G
IVT6827 1576 Plasmacuttingtorch LT150/6m central adaptor SEFIRRILTISOGMA &R 1VT6837 Plasma cutting torch LT150/12m central adaptor; $&F 1 S#/LT15012m/R & %
IVT6828 Plasma cutting torch LT150/6m M16xL.5; $&F {1 &/#/LT150/6mM16x1.5 IVT6838 Plasma cutting torch LT150/12m M16x1.5; S & F 41 &/#/LT150/12m/M16x1.5
1IVT6829 hT:  SEFITARILTI50/ IVT6839 Plasma cutting torch LT150/12m M14x1; 2 & 78 RILT150/12mML4x1L

MACHINE TORCH

[Code | Ret | Deseription | Code | Rer | Doscriion |

IVT6731 L5 3BT R 5 1IVT6881 TMLS012m M16L5; FEF A HIRI 5
IVT6735 1577 Plasmacutingautolorch LTWIS0IGm centladaptor S EF TEUNG0GmE 454 1VT6885 LTMI5011 SETEDHMLIMS0N M RS
IVT6737 Plasma cutting autotorch LTWIS0/6m 114G; S &353TH8LTH1506m 114G IVT6887 Plasma cutting auto torch LTM150(12m 1/4G; $ &7 &3t HILTMIS0/12m 114G
IVT6738 I SEFRUTHRL 1IVT6888 P hLTM1501L | BT AL i
IVT6739 1529 Plasmacutingatuotorch LTWIS06m U865 B &zHT8IRILTMISO6m 118G 1VT6889 Plasma cutting atuo torch LTMIS0112m 1/8G;% BF BafT&ILTMIS012m 118G

10.1

24.1
24.2
24.3
24.4
24.5
25

26

27
2
27.2
27.3
28
29

ISM0068 1406 Gouging spacer/LT141-150;30 O # % %2 LT141-150
ISM0069 W0300177 Four pointed spacer/LT101-150;0 &% 42 LT101-141
ISM0067 1408 /W0300131 Double pointed spacer/LT101-150;# % %2 LT101-141
ISM0066 Spacer spring/LT100-150;f@ & ¥ LT100-150
1IVS0007 1389 Outside nozzle LT150;5MEHE LT150

Tip; 5T v

IVU0071-11 1371
1IVU0071-13 1372
IVU0071-16 1373
IVU0071-18 1374

Tip® 1.1mm LT100-150;i# & 1.1mm/LT100-150
Tip ® 1.35mm LT100-150;/ M ® 1.35mm/LT100-150
Tip ® 1.6mm LT100-150;MH ® 1.6mm/LT100-150
Tip ® 1.8mm LT100-150;i# ® 1.8mm/LT100-150

ISM0099 W0300184 Locking nut; i 42 £
1ISM0083 W0300180 Spacer for contact cutting/LT100-150;F8 &5 32 22/4% i ] & LT101-141
1VS0089 Contact cutting nozzle LT150;# fit 3 SM TS LT150

Tip: M

Flat tip ® 1.35mm/LT100-150;8# ® 1.35mm/LT100-150
Flattip ® 1.6mm/LT100-150;1H & 1.6mm/LT100-150
Flattip ® 1.8mm/LT100-150;H§ ® 1.8mm/LT100-150

1IVU0073-14 W0300135
IVU0073-16 W0300137
1IVU0073-18 51412

IVF0004 1377 /W0300124 Diffuser LT100-150;4} /% 2 LT100-150

1VB0089 1376 /W0300123 Electrode HF LT100-150;% & F B #%/HF/LT100-150

1ZNO768 1378 Airtube LT141-151;§ /& LT141-151

ISM0003 W0300182 Contact cutting attachment/LT100-150;3 f# £ £ {& 718 LT100-150
ISM0004 W0300183 Long contact cutting attachment/LT100-150;4 #& f ] £ 4R #7108 LT100-150

Tip; M
Extended tip @ 1.4mm/LT100-150;iH ® 1.4mm/LT100-150
Extended tip ® 1.6mm/LT100-150;i8 ® 1.6mm/LT100-150

IVU0075-14 W0300178
IVU0075-16 W0300179

1VU0075-18 Extended tip ® 1.8mm/LT100-150; K ® 1.8mm/LT100-150
1VU0080-11 1369 /W0300134 Contact Extended tip 50A/LT100-150;3 fi il < B H§ 50A/LT100-150
IVB0095 1517 /W0300133 Extended electrode HF Plasma LT100-150;/1 4 % & F 84} HF/LT100-150
1ZNO764 Extended air tube/LT150; /1K S & LT150

V20030 Plasma torch head/LT150% & F#t sk LT150

IFT0689 1398/W0300121 "0"ring LT150;0% [# LT150

IVF9007 Frontinsulator LT141-151; 4t 31 i i 48 4 [ LT141-151

1GV0035 Plasma handle manual/A Series/Red; ¥ & F F L FH/ARIIA &
IHJ0722 Protection part/Plasma/Yellow;FF X R KIS B TFR/EE
IHQO070 185.0031 Trigger; 7 %

IHJ0894 Joint/big/inew type; Bk 5 & HH/K/F X

Cable assembly;F 440

Cable assembly/LT141-151/16MQ/6M center adaptor; EE4548/L T141-151/16MMQ/6M R ik
Cable assembly/LT141-151/16MQ/6M ATT.1/8G;H4{4/L T141-151/16MMQ/6M ATT.1/8G

Cable assembly/LTM141-151/16MQ/6M center adaptor; B8 4548/ TM141-151/16MMQ/6M =S4 sk
Cable assembly/LTM141-151/16MQ/6M ATT.1/8G;Ha 4i48/L TM141-151/16MMQ/6M ATT.1/8G

1VN00316060-00
1VN00316066-00
1VN10316060-00
1VN10316066-00

IVN0699 Cable assembly/LT141-151/6m central adaptor; B 45 48/LT141-151/6m/5 R i sk
1ICG6006 Spanner for Plasma; % 2 F 1047 F
1VZ0089 1354 Plasma torch head LTM150;% & F 46 3k LTM150
1GV0013 Fiber glass position tube/LTM; & &4 F 4§ LTM
Cable assembly LTM;E 4543 LTM
1ZT5687 Connecting adaptor 1/8G-1/4G 4% #:## 3£1/8G-1/4G
1275688 Connecting adaptor 1/8G-M14x1;4% 5 $%£1/8G-M14x1
1ZT5689 Connecting adaptor 1/8G-M16x1.5;4% #1#£1/8G-M16x1.5
1ZX0078 Central adaptor torch side Plasma 5 pins; % & F o R # Sk/5%t
ISM0077 169 Circle cutting attachment/LT100-151; & ] #I ¥ ff LT100-151



